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AP Calculus Test 4.1-4’.”§, No calculator

Multiple Choice
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% 6. If the graph of the function f(x) below is composed of two quarter circles, then J; f(x)dx =
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b 7. In the graph below, the areas of regions A, B, and C are 4=3.2, B=1.6,and C=4.4.
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(A) 16.4 (B) —0.4 (C) -15.6 (D) -16.4 (E) —2.4
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9. According to the graph below, which of the following is\f@iﬁ@for the function f (x) when the
L b
indicated Riemann & Trapezoidal sums are used to approximate the value of I f (x)dx ?
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(A) Right hand sum > Midpoint sum v true bor suce

(B) Midpoint sum < Trapezoidal sum € hard +o +e |l

(C) Left hand sum > Trapezoidal sum FA/SE o sure I
(D) Left hand sum < Right hand sum v/ true for sure

(E) Trapezoidal sum < Right hand sum /7 fue for sure

____"10. The table below glves various Values ofa contmuous functlon f ( ) on the closed interval [0,8] .
"]

x [0.0]1.0{2.0]3.0[4.0]5.0]6.0]7.0]8.0
f(x)|0.8{1.2]3.1/0.6]0.4|2.2]3.0{2.4|3.6

Using the given values and four subintervals of width 2, the midpoint Riemann approximation of

ij(x)dx is = o
(A) 124 (B) 11.8 (C)12.8 (D) 12.6 (E)13.2
" M"f = L[[,z +o0.0+2.2 +2.4]" ZEO.L@ =/2.9
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Using 3 subintervals, what is the trapezoidal approximation of I (x) dx =
- {rapezoidal ap
(A) 135 (B) 305 (C) 270 (D) 275 (E) 290
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Short Answer: Evaluate the following indefinite integrals. Remember, rewriting is the key, and don’t forget

your +C.

13. j[sx +4—xxjdx—
f(gﬂ.% N dx

125+l 2+
”“@ ® ®

15, [4dm (2m=5)" dm=

A (o -/Wzs»m/@w
LW(L/ 3/14—25% LLW

zm_-I—C,

%H L\”L‘_DM ubes
Lf[ 2 4,3 5’4. 52 5,7 V2| +C

EING B et

th 2?11

\/1 # }
r_;-:_ 37 o ‘3Fl+u{3
J = !
%53* T e
_t .f—arcsm’t'/'o

or

:i-,t/s + Sln’t + <

“

16. j(cotz x —sec? x)dx =

J\( asclx—lg/% 22X de

— ¢ —tanx +¢
—oof =X @)

+c@

.I.‘, an LY Pr(ééﬂ)n,
nok ST +¢

j2 F & proils/



